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cr €2 €3 (€1 Cg Cg Ci2 C9 C11 Cs

Ideals for irreducible componentfbf Xpar

I = (w® +u . = 2u—1)

* 1 irreducible components of dim¢ = 0, with total 68 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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LIY=(u®4u" 4. —2u—1)

(i) Arc colorings

w- (1)

ag —
ay =
az =

aq =

wWHul+ut+1
ul0 4+ 208 + 3ub + 2u* 4+ u?
w'® + 3wl + 50t + 4010 + 30 + 208 + 20t + 1

ul® + 4y + 9y + 1202 + 11610 + 6ud + 2ub + u?
—utt — 20 — 20T + B

w30 + 4"+ 3P +ut 4 u

—ud? — 70 4 2ut 1

u3? 4+ 8u0 + - 4 dut + 2u?

u®® + 10u43—|—-~~—|—2u3—|—u>
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ain = \u?” + 11 + - 20 +u

ubt + 1400 + - — 203 —

as = \ —ubt — 1505 + .- —ud +u
(ii) Obstruction class = —1

(iii) Cusp Shapes = 4u%6 + 445 + ... — 4u — 10



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing

! u%® £330+ —2u+1

C2, C7 ub ST —2u—1
€3 u® — w57 4 ... — 3560 — 185

€4, 5, €10 ub® — S 20— 1
C11

Cg,C12 u® + 50+ 41020+ 5
s u%® +5u" . —du—3
€9 u® — 21057 + - -+ 4 133900u — 11327




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing

‘1 Yo + 5y 4+ 22y + 1

Co, C7 y68+33y67+--~—2y+1
c3 Y98 — 23157 + ... — 913726y + 34225

C4,Cs, C10 y68_79y67+_2y+1
C11

Ce5 C12 Y% +57y°7 + .- — 4634y + 25
€] Y% — 3457 + ... — 22y 4+ 9
Co Y98 —319°7 + ... — 1781733302y + 128300929




(vi) Complex Volumes and Cusp Shapes

Solutions to I} V—1(vol + /—1CS) Cusp shape
= 0.569465 + 0.8214211 —9.88852 — 2.651087 | —8.60098 4 0.1
= 0.569465 — 0.8214211 —9.88852 + 2.651081 | —8.60098 + 0.1

0.196680 + 1.0063701

—8.93532 — 2.088221

—11.98824 + 2.125831

0.196680 — 1.0063701

—8.93532 + 2.088221

—11.98824 — 2.125831

—0.516300 + 0.8067001

—1.89157 4 0.765941

—7.09900 — 1.499601

—0.516300 — 0.8067001

—1.89157 — 0.765941

—7.09900 + 1.499601

0.621616 + 0.7111881

—9.54510 + 7.331611

—7.70041 — 6.152321

0.621616 — 0.7111881

—9.54510 — 7.331611

—7.70041 + 6.152321

—0.271595 + 0.9039151

—1.66897 + 0.699011

—9.13293 — 3.928891

—0.271595 — 0.9039151

—1.66897 — 0.699011

—9.13293 + 3.928891

0.448518 4 0.9585611

—0.42510 + 2.038561

0

0.448518 — 0.9585611

—0.42510 — 2.038561

0

—0.597092 + 0.6982601

—1.52058 — 5.235381

—5.66765 + 8.096991

—0.597092 — 0.6982601

—1.52058 + 5.235381

—5.66765 — 8.096991

0.543552 + 0.6746931

0.33852 4 1.964941

—1.18152 — 3.584021

0.543552 — 0.6746931

0.33852 — 1.964941

—1.18152 4 3.584021

= —0.542516 + 1.0052701 —5.43066 — 2.425561 0
= —0.542516 — 1.0052701 —5.43066 + 2.425561 0
= —0.444504 + 1.0665401 —3.39119 — 3.468531 0
= —0.444504 — 1.0665401 —3.39119 + 3.468531 0

—0.779022 4 0.2865961

—11.6248 4 9.19941

—8.83810 — 4.949201

—0.779022 — 0.2865961

—11.6248 — 9.19941

—8.83810 + 4.949201

0.533000 + 1.0471001

0.59068 + 3.808971

0

0.533000 — 1.0471001

0.59068 — 3.808971

0

—0.628186 + 0.5335641

—4.04887 — 2.184521

—3.17290 + 3.273461

—0.628186 — 0.5335641

—4.04887 + 2.184521

—3.17290 — 3.273461

—0.285766 + 1.1444301

—5.69626 + 0.320251

0

—0.285766 — 1.1444301

—5.69626 — 0.320251

0

0.764887 + 0.2860701

—3.46891 — 6.945921

—6.88820 + 6.612167
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0.764887 — 0.2860701

—3.46891 + 6.945921

—6.88820 — 6.612161




Solutions to I} vV—=1(vol + /=1CS) Cusp shape
= 0.272050 + 1.1549001 —7.87704 — 3.873801 0
= 0.272050 — 1.1549001 —7.87704 4 3.873801 0
= 0.434060 + 1.1105701 —11.36200 4 3.777971 0
= 0.434060 — 1.1105701 —11.36200 — 3.777971 0
= 0.303760 + 1.1532601 —8.24956 + 3.012641 0
= 0.303760 — 1.1532607 —8.24956 — 3.012641 0
= —0.266265 + 1.1652107 —16.1206 + 6.08421 0
= —0.266265 — 1.1652107 —16.1206 — 6.08421 0
= —0.544409 + 1.0705101 0.14008 — 7.027651 0
= —0.544409 — 1.0705101 0.14008 + 7.027651 0

0.694347 + 0.3894021

—4.69547 — 4.075841

—4.42256 + 3.798561

0.694347 — 0.3894021

—4.69547 4 4.075841

—4.42256 — 3.798561

—0.743742 4 0.2792931

—1.43487 4 3.377161

—3.04234 — 2.335181

—0.743742 — 0.2792931

—1.43487 — 3.377161

—3.04234 + 2.335181

—0.310586 + 1.1656801

—16.6556 — 4.96011

0

—0.310586 — 1.1656801

—16.6556 + 4.96011

0

—0.755158 +- 0.2281941

—12.47070 — 1.608111

—10.06141 4 0.479111

—0.755158 — 0.2281941

—12.47070 4- 1.608111

—10.06141 — 0.479111

0.739760 + 0.2470301

—4.08581 — 0.206191

—8.44067 — 1.588021

0.739760 — 0.2470301

—4.08581 + 0.206191

—8.44067 + 1.588021

0.557735 + 1.0863701

—6.72622 + 8.895751

0

0.557735 — 1.0863701

—6.72622 — 8.895751

0

0.611409 + 0.4641531

2.29790 4 0.726961

1.42198 — 4.037881

0.611409 — 0.4641531

2.29790 — 0.726961

1.42198 4 4.037881

—0.647080 + 0.4103701

2.05724 4 2.364781

—0.10664 — 5.605991

= —0.647080 — 0.4103701

2.05724 — 2.364781

—0.10664 + 5.605991

gie|e(e|e|g|g|g|e|g|g|g|e|g|g|g|e|g|eg|g|g|g|g|g|e|ge|ege|g|ge|:

= 0.536182 + 1.1406801 —6.67249 + 5.011057 0
= 0.536182 — 1.1406801 —6.67249 — 5.011051 0
= —0.547074 + 1.1357301 —3.92615 — 8.251461 0
= —0.547074 — 1.1357301 —3.92615 + 8.251461 0




Solutions to I} V—=1(vol + /=1CS) Cusp shape
u = —0.532240 + 1.1495201 —15.1491 — 3.20907 0
u = —0.532240 — 1.1495201 —15.1491 + 3.20907 0
w=0.554156 + 1.1404607 —5.97071 4+ 11.901701 0
u = 0.554156 — 1.1404601 —5.97071 — 11.901701 0
u = —0.558002 4 1.1449301 —14.1477 — 14.20561 0
u = —0.558002 — 1.1449307 —14.1477 4 14.20561 0
u= 0.596102 —8.41516 —10.1960
u = —0.419381 —0.927902 —10.4430




II. u-Polynomials

Crossings u-Polynomials at each crossing
€1 u%® +33u5 .. —2u+ 1
C2, C7 u® b - 2u—1
€3 u®® — w7 4 ... — 356u — 185
€4, Cs5,C10 W T 4 oy — 1
‘1
Cg,C12 u%® + 505+ 41020+ 5
s u®® + 508"+ —du—3
€9 u%® — 21057 + - -+ + 133900u — 11327




ITI1. Riley Polynomials

Crossings Riley Polynomials at each crossing

C1 y68+5y67+_22y+1

c2,C7 Y% +33y5 + . — 2y + 1
€3 y%® — 23457 + ... — 913726y + 34225

C4,C5, C10 y68_79y67+_2y+1
‘1

Ce, C12 Y% + 575" + .. — 4634y + 25
s Yo — 3y . 22y +9
Co y%® —319%7 + ... — 1781733302y + 128300929




